RECORD ANNUAL TOWN ELECTION MAY 21, 2018

In accordance with the following warrant the inhabitants of the Town of Granby qualified to vote in elections met at the Granby Jr. Sr. High School at 385 East State Street, in the Town of Granby on Monday, May 21, 2018 and voted as follows:

SELECT BOARD - VOTE ONE (3 YEARS)	PRECINCT 1	PRECINCT 2	TOTAL
JENNIFER L. CURRAN 13 Ken Ln	133	111	244
JAY J. JOYCE 18 Jennifer Dr.	<u>159</u>	<u>149</u>	308
WRITE IN'S	0	0	
Precinct 1			
Precinct-2			
BLANKS	3	3	<u>6</u>
TOTAL	<u>295</u>	263	558_
ASSESSOR- VOTE ONE	PRECINCT 1	PRECINCT 2	TOTAL
(3 YEARS) FRANK A. HUDGIK 50 North St Candidate for Re-election	<u>210</u>	<u>190</u>	400
WRITE IN'S	1		_1_
Precinct 1 George Knight			
Precinct-2			
BLANKS	84	<u>73</u>	<u> 157</u>
TOTAL	295	<u> 263</u>	<u>558</u>
BOARD OF HEALTH- VOTE ONE	PRECINCT 1	PRECINCT 2	TOTAL
(3 YEARS) LEE A. LALONDE 42 Taylor St Candidate for Re-election	220	204	424
WRITE IN'S	1_	0	1_
Precinct 1 Dr. Herbert Abelson			
Precinct-2		50	494
BLANKS	74	59	131
TOTAL	<u> 295</u>	<u> 263</u>	558

MODERATOR- VOTE ONE (3 YEARS)	PRECINCT 1	PRECINCT 2	TOTAL
LYNN SNOPEK MERCIER 30 South St Candidate for Re-election	223	<u>195</u>	417
WRITE IN'S	1_		1_
Precinct 1 George Randall			
Precinct-2			
BLANKS	<u>71</u>	68	139
TOTAL	295	263	558
TOWN COLLECTOR- VOTE ONE (3 YEARS)	PRECINCT 1	PRECINCT 2	TOTAL
KAREN M. STELLATO 17 Pinebrook Dr Candidate for Re-election	230	203	433
WRITE IN'S	1_	0	1_
Precinct 1 Leanne Berggren			
Precinct-2			
BLANKS	<u>64</u>	59	<u>123</u>
TOTAL	295	<u>263</u>	<u> 558</u>
TREASURER- VOTE ONE (3 YEARS)	PRECINCT 1	PRECINCT 2	TOTAL
STEVEN R. NALLY 31 Pleasant St Candidate for Re-election	207	<u>185</u>	392_
WRITE IN'S	2	_1_	3
Precinct 1 Robert Ash, Mike Simpson	1		
Precinct-2- John Robert			
BLANKS	86	<u> </u>	<u> 163</u>
TOTAL	295	<u>263</u>	<u>558</u>
HOUSING AUTHORITY- VOTE ONE	PRECINCT 1	PRECINCT 2	TOTAL
(5 YEARS) JAMES J. PIETRAS 280 East State St	226	205	431
WRITE IN'S	0	0	
Precinct 1 Precinct-2			
BLANKS	69	58	<u> 127</u>
TOTAL	295	263	558

PLANNING BOARD- VOTE ONE	PRECINCT 1	PRECINCT 2	TOTAL		
(5 YEARS) ROBERT F. SHEEHAN, JR. 144 Taylor St Candidate for Re-election	211	188	<u>399</u>		
WRITE IN'S	<u> </u>	0	2_		
Precinct 1 George Knight, Gabe Pula	1				
Precinct-2					
BLANKS	82	<u>75</u>	<u> 157</u>		
TOTAL	<u>295</u>	<u> 263</u>	558_		
SCHOOL COMMITTEE- <u>VOTE TWO</u> (3 YEARS)	PRECINCT 1	PRECINCT 2	TOTAL		
EMRE E. EVREN 18 Crescent St Candidate for Re-election	174	149	<u>323</u>		
JENNIFER A. BARTOSZ 97 Porter St	197	173	370		
WRITE IN'S		6	13		
Precinct 1 Mark Bail- 2, George Knight-1, Keith Preston-1,Gabe Pula-2, Aldina Smith -1					
Precinct-2 Al Bail-1, Mark Bail-4, Ann	Precinct-2 Al Bail-1, Mark Bail-4, Annie Cote-1				
BLANKS	212	<u>198</u>	410		
BLANKS	<u>212</u> <u>590</u>	198 526	<u>410</u>		
* 558 Votes X 2 Positions= 1116 FOR COMMISSIONER OF BURIAL G	590	526 E ONE	1116		
* 558 Votes X 2 Positions= 1116	590	526			
* 558 Votes X 2 Positions= 1116 FOR COMMISSIONER OF BURIAL G (3 YEARS) GORDON A. LANDRY 241 Batchelor St	590 ROUNDS-VOTE PRECINCT 1	526 E ONE PRECINCT 2	1116		
* 558 Votes X 2 Positions= 1116 FOR COMMISSIONER OF BURIAL G (3 YEARS) GORDON A. LANDRY 241 Batchelor St Candidate for Re-election	590 ROUNDS-VOTE PRECINCT 1 214	526			
* 558 Votes X 2 Positions= 1116 FOR COMMISSIONER OF BURIAL G (3 YEARS) GORDON A. LANDRY 241 Batchelor St Candidate for Re-election WRITE IN'S	590 ROUNDS-VOTE PRECINCT 1 214	526			
* 558 Votes X 2 Positions= 1116 FOR COMMISSIONER OF BURIAL G (3 YEARS) GORDON A. LANDRY 241 Batchelor St Candidate for Re-election WRITE IN'S Precinct 1	590 ROUNDS-VOTE PRECINCT 1 214	526			

FOR LIBRARY TRUSTEE-VOTE THR (3 YEARS)	<u>EE</u> PRECINCT 1	PRECINCT 2	TOTAL
LEAH A. CONDON 37 West Street Candidate for Re-election	209	187	396_
JANICE M. COOK 52 Kendall St Candidate for Re-election	207	<u>189</u>	<u>396</u>
THERESA A. LAPRADE 5 Leo Dr Candidate for Re-election	204	182	386
WRITE IN'S	0	1	1_
Precinct 1			
Precinct-2 Annie Cote			
BLANKS	<u> 265</u>	230	<u>495</u>
TOTAL	885	<u>789</u>	<u>1674</u>
* 558 Votes X 3 Positions= 1674			

The polls opened at 7:00 a.m. and closed at 8:00 p.m. There was one contested race and no ballot questions.

Five Hundred and fifty-eight voters came out to cast their votes. Out of the 558 voters, thirty-three were absentee ballots.

This was the first election that the town used the Pollpads for checking in the voters, along with the traditional check in and checkout books.

The Pollpads can look up the voter by manually entering their name, or if the voter wishes it can scan their MA Drivers license or MA ID, this is strictly a look up tool no personal information is being scanned.

The Pollpads have also been used at the last three town meetings and the voters seem very receptive to this new piece of equipment. It's a quick and accurate system that helps keep the lines moving quickly.

As of May 21, 2018, there were 4,551 registered voters (532 of these voters are considered inactive voters, and will be eliminated if not heard from by two State elections or four years). The percentage of voters who showed up to support these candidates was 12.5%.

I certify that all ballots cast for candidates in this Annual Town Election held on Monday, May 21, 2018, have been counted and recorded in accordance with the law.

Respectfully submitted,

Katherine A. Kelly-Regan Town Clerk, CMMC